
If this is the answer, what is the question? 
How many can you think of? 

You can use all four operations + - x ÷
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 To get an insight into age related expectations in Year 5 
Mathematics.

 To take away some ideas to support your children at 
home.

 To work with your child /ren and take part in a  variety of 
maths activities.





Become fluent in the fundamentals of mathematics, including through 

varied and frequent practice with increasingly complex problems over 

time, so that pupils develop conceptual understanding and the ability 

to recall and apply knowledge rapidly and accurately.

Reason mathematically by following a line of enquiry, conjecturing 

relationships and generalisations, and developing an argument, 

justification or proof using mathematical language.

Can solve problems by applying their mathematics to a variety of 

routine and non-routine problems with increasing sophistication, 

including breaking down problems into a series of simpler steps and 

persevering in seeking solutions.



Curriculum coverage







WHY IS IT HELPFUL 

TO KNOW THE

TIMES TABLES?



Here’s how I think 

about it. Imagine a 

big house...



IF MATHS 

WERE A 

HOUSE
COUNTING

+  −

× ÷

FRACTIONS AND %

GRAPHS, SHAPES & ALGEBRA

ALL THE EVEN MORE FUN STUFF



Times tables (like adding 

and subtracting) need to 

be strong for your maths 

house to stay up.





PLAY IN 8 
DIFFERENT 

GAME MODES!

BEST FOR TAKING 
YOUR TIME TO 
GET THE RIGHT 

ANSWER.

BEST FOR ONE 
GREAT 

PERFORMANCE 
EACH MONTH.

BEST FOR 
COMPLETING 

YOUR HEATMAP.

BEST FOR 
GETTING A ROCK 

STATUS.

BEST FOR 
ANSWERING 25 

QUESTIONS,
6 SECONDS EACH.

BEST FOR 
RACING PLAYERS 

AROUND THE 
WORLD.

BEST FOR 
RACING PLAYERS 
IN YOUR CLASS.

BEST FOR 
CHALLENGING A 

FRIEND OR 
TEACHER.





You can explore which times tables 
your child is finding tricky or is taking 
more thinking time for them to 
answer. These can be targeted in your 
own screen free games.











 Think before doing

 Notice things

 Make decisions based on what 
they notice, know and 
understand



I realised 
this couldn’t 

be right 
because…

I know this is 
true 

because…

When I got stuck I 
decided to try…

I wondered 
what would 
happen if…

The way I would 
describe the 
pattern is…

The thing I 
noticed 
was…

The connection I 
think is important 

is...

The thing that 
helped me see the 
connection was…

I already knew…so 
this helped me work 

out…

The strategy I used 
was…I choose this 
strategy because…

When I saw this 
it made me 

think about…

I thought the 
answer looked 
right because…

This reasoning mat is to help you explain your ideas to others.

Select the sentence starter that best fits what you want to say.



What do you 
notice?



First of all, I need to 
calculate the price of 
5 pints of milk.

I can see that each item 
is £1 or over.

1 0 9.
X 5________

5
4
45 .

5 pints of milk =

£5.45

Written strategy

Mental strategy
I know 5 times £1 equals £5.

I can use my 5 times tables to 
work out 5 times 9p equals 45p. 
So the total cost of 5 pints of milk 
is £5.45.



The next thing I need to do is calculate 
the cost of 3 loaves of bread and 5 bars 
of chocolate.

1 1 2.
X 3_______

633 .

1 0 0.
X 5________

005 .

Loaves of bread

Bars of chocolate

Mental strategy
I know 3 times £1 equals £3.

I can use my 3 times tables to 
work out 3 times 12p equals 36p. 
So the total cost of 3 pints of milk 
is £3.36.



I now need to add the 2 together.

3 3 6.
+ 0

_______638 .
5 0.

The total cost 
is £8.36



Use the reasoning mats to help you discuss 
and solve this problem

Which times tables will 
help you?

What are your first 
steps?



The strategy I used was to list 
the multiples of 8 and 12 

first. I choose this strategy 
because it would help me 

find common multiples that 
are in both times tables

8, 16, 24, 32, 40, 48, 

12, 24, 36, 48,  

I already knew he age was 
less than 50 so this helped 

me work out that I only 
needed to go up to 6 x 8 

which is 48 and 4 x 12 
which is 48



8, 16, 24, 32, 40, 48, 

12, 24, 36, 48,

7, 14, 21, 28, 35, 42, 49

I wondered what 
would happen if I then 
listed the multiples of 7 
to find a number that 
was one away from 

either 24 or 48.

The answer must be 
48. I know this because 
7 x 7 is 49 which is one 
more than 48 and still 

less than 50. 



https://www.bbc.co.uk/sport/supermovers/42612499

https://www.topmarks.co.uk/maths-games/hit-the-button

https://nrich.maths.org/primary

https://ttrockstars.com/

https://www.mymaths.co.uk/

Please refer to the support for learning pages in the back of the 
home link books.
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